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1. (10 points) Write the rational expressions in lowest terms:
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2. (12 points) Solve the equation.
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3. (12 points) Divide the rational expression. Write the answer in lowest terms.
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4. (10 points) Subtract the rational expression. Write the answer in lowest terms.
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(12 points) Simplify the complex fraction. Write the answer in lowest terms.
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a. (6 points)
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(10 points) Rationalize the denominators.
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7. (14 points) Simplify the expressions.
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8. (10 points) A boat goes 7 mph in still water. It takes as long to go 20 mi upstream as 50 mi

downstream. Find the speed of the current. Means Ltoves Gae qu:.,Q
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Extra Credit (10 points) Simplify the expression.
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